<

joll

4

Jo

4+
JoO

KO

uF
Ko

ol

1-1. LH &t
1-2. LK

off A

4
ol
KO

|

F

4
[

KO

4
T4
0

|

ml

H|

=)

Tl

o7

mr

Khu
o <

<
EEOE_E
SN X3
Blom o4
#_iﬁe%
o <
ool W
of 3Ky
..JAlmEJAI
U=

o~
il
+ —~ S
C ~ O
- e A
- @© C
o O S

x=
T=

olg
=T

KHE0f A

.2
P

start, stop)

substr(x,

1
2
3

4

2-3.R O A AFE X}

HAESH 2R f(x1,x2) = X142 + x2A2

=
=

20| M f(3,4), f(1,2)

[s1 k1]
==

(Gl Al 1] Oteof 4=

P

4

Jo0

(CIAl 2] 280l mO| 22, REZHEAZ} s A2 ZOM, == n7i E Y-g3t0, S| AE 170t

<
jol0
[

ojn

KO

4+

JoO

Kl
of

4

JoO

<
joO

KO

E
kio

<+

1-1. LjZtet


af://n0
af://n4
af://n5

ot
+
A
not
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M&ed sqrt

X|=rgh=r exp

2% log(5), log2(5), log10(5), log(5, base=3)
x| CHgr max, pmax

ENEAE Ay min, pmin

ot sum

H mean

Aot abs

FEALM cummax, cummin, cumprod, cumsum
AZtShg sin, cos, tan

SE U= ceiling, round, trunc, floor

1-2. L&k ofl A
a <-1:5
sqrt(a)
exp(a)
out <- (a + sqrt(a))/(exp(2)+1); out
x1 <- seq(-2, 4, by = .5); x1
floor(x1)

trunc(x1)

a <- ¢c(1,-2,3,-4)
b <- ¢(-1,2,-3,4)

min(a,b)
pmin(a,b)
it

>a <- 1:5

> sqrt(a)

## [1] 1.000000 1.414214 1.732051 2.000000 2.236068

> exp(a)

## [1] 2.718282 7.389056 20.085537 54.598150 148.413159
>

> out <- (a + sqrt(a))/(exp(2)+1); out

## [1] ©.2384058 0.4069842 0.5640743 0.7152175 0.8625604

>

> x1 <- seq(-2, 4, by = .5); x1

## [1] -2.0 -1.5 -1.0 -6.5 ©.6 0.5 1.6 1.5 2.0 2.5 3.0 3.5

## [13] 4.0
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>
> floor(x1)

## [1] -2 -2-1-1 @ @6 1 1 2 2 3 3 4
>

> trunc(x1)

## [1] -2 -1-1 @6 @ @6 1 1 2 2 3 3 4
>

> a <- ¢(1,-2,3,-4)

>b <-¢c(-1,2,-3,4)

>

> min(a,b)

## [1] -4

>

> pmin(a,b)

## [1] -1 -2 -3 -4

dnorm(x, mean=0, sd=1) # =2 L& =

x <- seq(-3,3, length=30)

y <- dnorm(x)

plot(x, y, type='1l"', main="N(0,1)", ylab="f(x)")

my

ot :

N(0,1)
=
(o]
|
(]
R
framey (]
g |
=2
(o]
I I I I
-3 -2 -1 0
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e pnorm(q, mean=0, sd=1) :Z~N(0,12)Q +X 2 X st4-p(7<1.96)=?
pnorm(1.96)
Aqt:

> pnorm(1.96)
## [1] ©.9750021

e rnorm(n, mean=0, sd=1) :tt(HE
rnorm(10)
< jn o

> rnorm(10)
## [1] -2.4889669 -0.1988307 0.3942407 -0.7583794 0.3852281
## [6] 0.3809737 -1.0661356 -0.3894842 -0.8769265 -0.9841782

2)0|gR=E

dbinom(x, size, prob)
pbinom(q, size, prob)
gbinom(p, size, prob)
rbinom(n, size, prob)

a <- ¢(5,3,6,2,4)
print(a)

Aqt:

> a <- ¢(5,3,6,2,4)
> print(a)
## [1] 53 6 2 4

[H

2) cat() :EXE UL ALZNE SA0f| EH SHHO =ZRIE

cat("mean of a is ",mean(a), "variance of a is ", var(a),"\n")

< jn o

> cat("mean of a is ",mean(a), "variance of a is ", var(a),"\n")

## mean of a is 4 variance of a is 2.5

3) unique() :ME2CIE {AUS
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x <- ¢(1,5,1,3,5,7,5)
unique(x)

A}

> x <- ¢(1,5,1,3,5,7,5)
> unique(x)
## [1] 1 53 7

4) substr(x, start, stop) :2XIEOM UL ==

X <- c("RE",olge, "2E", "2He")

substr(x, 1, 1)
F<ini ¥

> x <- c("LRE", "oy, "6, "2Mel")
> substr(x, 1, 1)
## [1] IIL__II llOlII lltl_"_ll II_E_H

5) paste(..., sep="") :2XIgo| A%

paste("x",1:3,sep="")
paste("x",1:3,sep="M")
paste("Today is", date())

Aqt:

> paste("x",1:3,sep="")

## [1] "x1" "x2" "x3"

> paste("x",1:3,sep="M")

#[1] "xM1" "xM2" "xM3"

> paste("Today is", date())

## [1] "Today is Mon Oct 07 12:25:16 2019"

AL
T

22 BRI B4 53840t U I, 8O

o x1,x2E Ql==(input arguments)

o y&= Z1) (BH2HEE, return value)
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2-3.ROIM AHE X} =2 2| &

rE

function_name <- function(@/==1, o2, ...) {

function_name(arg_1

1
—_
~

function_name(arg_2 =

|
—_
)
=
«
|
=
1]
w
~

function_name(3, 1)
2.5, ALRXF B 0| g4 EH4 O %

(Ol X| 1] of2H 2] £t S0l M £(3,4), f(1,2) S AH|AFS] EX}. f(x1,x2) = X142 +x2A2

11

1)RETHe

f <- function(x1, x2) {
y <= x1 22 + x2 *2
return(y)

}
Aqt:

> f <- function(x1, x2) {
+y <- x1 22 + x2 A2
+ return(y)

+ )

ok

)T =2E

f(x1=1, x2=2)

(3, 4)

f(x1=c(1,2), x2=c(3,4))

< jn

> f(x1=1, x2=2)

## [1] 5

> f(3, 4)

## [1] 25

> f(x1=c(1,2), x2=c(3,4))
## [1] 10 20

(G 2] 28 20| mO| 1, REFEHAII} s HARZE M, = n7l & S5, 5| 2EQ

g =g
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+ 3ol

1)R
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normal_hist <- function(m, s, n) {
X <- rnorm(n, mean=m, sd=s)
hist(x, main=paste@("'N(",m, ",", s*2, ")"))

A1t

> normal_hist <- function(m, s, n) {
+ X <- rnorm(n, mean=m, sd=s)
+  hist(x, main=paste@("N(",m, ",", s*2, ")"))

+ )

oot

) g+ 2E

normal_hist(m=5, s=3, n=100)

A}

N(5,9)
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https://misdb.github.io/R/R-for-BigData-Analysis/source/ch_03_01_Function.R
https://misdb.github.io/R/R-for-BigData-Analysis/pdf/ch_03_01_Function.pdf
file:///D:/GitHub/R/R-for-BigData-Analysis/ch_03_Data_Types.html
file:///D:/GitHub/R/R-for-BigData-Analysis/index.html
file:///D:/GitHub/R/R-for-BigData-Analysis/r-Table_Conversion_Wide-Long.html
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